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Chapter- 4 - Subtraction

» Summary

1. Subtraction by picture
2. Single digit subtraction
3. Subtraction (Horizontal)
4. Fill in the blanks
5.Word problem

6. Activity
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% Subtraction (Horizontal)
a) 9-0= 9 e) 6-1=5
b) 7-2=5 f) 5-4=1
hy 6-6=0
d 9-4 =5 ) 8-2=6

«* Fill in the blanks

0 = /

* Word problem

1. Sonia has 8 dolls. She gave 3 dolls to Neha. How many dolls are left with
Sonia?

Ans. 8 Dolls
- 3 Dolls
5 5 Dolls left

2. Rohan has 7 pencils. He used 5 pencils. How many pencils are left with
Rohan?

AnNs. 7 Pencils
- 5 Pencils
2 2 Pencils left
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